o
[N

X
N

<3 @> (rad)
<)
o [
)

.....

.....

270.2H)

T 2H

@ f
1H

-1

0 1 2 3
TP n (PCA to beamline)

< d cot(B) >
o
n O
[6)] N

o
N

.........

.........

...........

- FEEFHT- R 4 -F 4 - 4 -

|
N

-1

0 1 2 3
TP n (PCA to beamline)

—=— DQM_TT _original
—— DQM_TT_newscoreonlyINIT

<op/p.> (%)
O = N W N O

P e 1 e L |
AN Al L
3 2 -1 0 1 2 3

TP n (PCA: to beamline)

T T T T T [T T T T T[T T [T T[T [T T T IT T roTT

|
w

-1

0 1 2 3
TP n (PCA to beamline)

o-100F

T 15F
o E

11

0.5F

4 3
H - -

A4 -

> o

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


